(2) BOD, COD, £E%. £, cHNOIRBEAEZFIKR
7 BEEEESE

a BODC(GIII (B4 : mg/L)
lgihcizs| BEEESE | R 23 4 3 24 3 3
Kigi% Y] & & ¥ THEIFH] @ & F 75% {8
FRJ)x1) EER A 1.0 1212 = 100 1.2 §1.3| 11 ~ 12 = 92| 1.5
Fa)(2) AL ER S B 1.21 1212 = 100] 1.6 §1.4| 12~ 12 = 100| 1.6
I LR EAE A 0.8 1212 = 100 1.0 §0.7| 12 ~ 12 = 100| 0.7
HITiR () |BXE A 0.8 1212 = 100/ 0.9 10.7] 1212 = 100| 0.8
HNIITH Q) [EaiE A 1.2 10~ 12 = 83 1.2 }1.0| 12 ~ 12 = 100| 1.1
BRI EFR () |[HETE A 0.6 1212 = 100 0.5 0.7 12~ 12 = 100| 0.8
BIIER Q) [=Z&EXE A 0.7 1212 = 100 0.8 §0.7| 12 12 = 100| 0.7
BRI ik w=)IE A 1.0 1212 = 100 1.0 §1.0| 11 ~ 11 = 100 1.1
RE)(2) EHE A 1.2 1 12 = 92 1.5 1.3 12 ~12 = 100| 1.4

I N A 1.0] 1212 = 100 1.1 §1.0| 12~ 12 = 100[ 1.2
AREN(3) EXKE A 091212 = 100] 1.1 §1.0| 12~ 12 = 100| 1.2

RF) I HEE A 1.0l 1 /12 = 92 1.1 J1.0] 12 ~ 12 = 100] 1.2
HBIIER [RHE A A 0.5 010 = 00/ <0.540.5] 12~ 12 = 100 0.5

e A |07 12712 = 100 0.9 J 0.6 12712 = 100[ 0.6

LIAEHE A 0.6 1212 = 100 0.7 §0.6 | 12 ~12 = 100| 0.7
HBIITHR |SEHE A 0.6 1212 = 100/ 0.8 §0.7| 1212 = 100] 0.9

BER A 06| 1212 = 100 0.6 0.7 12~ 12 = 100| 0.8

RBRIJIIE A 091212 = 100 0.9 J1.5] 10 ~ 12 = 83| 1.7
FrE)I AEEE A 0.7 1212 = 100 0.7 §0.6 | 12 ~12 = 100| 0.7

EAE A 0.7 11 ~11 = 100/ 0.9 10.8] 1212 = 100| 0.8
I RAFE B 0.7 1010 = 100/ 0.8 0.8 11 ~ 11 = 100| 0.9
INBJIESE | - RRRGERA A 0.8 1212 = 100 1.0 J0.8] 11 ~ 11 = 100| 1.0
NI FR [VIMNAEE A 09| 10~10 = 100 1.2 §0.9| 11 ~ 11 = 100| 1.2
P —/ B B 20 11 ~ 12 = 921 2.2 §1.8] 10 7~ 11 = 91| 2.1
ERIER =6 AAJ06| 11 /712 = 92/ <0.5410.5| 12 ~ 12 = 100| 0.5
SN TR [EHE A 0.7 1212 = 100 0.7 §0.7| 12~ 12 = 100| 0.7
=) ZEE AAJ05| 12712 = 100/<0.540.5| 12 ~ 12 = 100]| 0.5
HIRE)I HiE A 0.6 1212 = 100] 0.6 J0.6| 11 ~ 11 = 100| 0.6
SHlII FHEE A 0.5 1212 = 100/<0.510.6| 12~ 12 = 100| 0.5
‘:‘.‘I!JII HEAE A 0.7 99 = 100/ 0.8 § 0.7 9/9 = 100 0.8
REAI A S48 A 0.8 9.9 = 100/ 1.0 §0.8] 10~ 10 = 100] 0.9
Hif) WBEEHE A 0.9 12712 = 100] 1.1 1.4 9/ 10 = 90| 1.4
X TR iBE A 1.0 2/ 12 = 00l 1.2 §0.9] 12~ 12 = 100{ 1.0
FED] EUE A |06 12712 = 100[ 0.5 J0.5[ 12 712 = 100 0.5
HHER I FIRXE A 0.5 12712 = 100]| <0.5}1<0.5| 12 ~ 12 = 100 0.5
S X A 0.7 10~ 10 = 100] 0.8 0.9 1/ 1 = 100 1.0
LI HERE A 0.8 11~11 = 100/ 0.9 0.6 | 12 12 = 100| 0.7
J\EIJII NGRS A 11| 1112 = 921 1.3 1.2 12 12 = 100] 1.3
REJII INEE A 1.0| 1212 = 100] 1.1 §0.9| 12~ 12 = 100 1.0
TEH) TEE A 0.6 1212 = 100 0.7 §0.7] 12~ 12 = 100| 0.8
L3I0 KERE A 0.5 1212 = 100/<0.510.5]| 11 ~ 11 = 100| 0.5
B BIE A 0.5 11 ~11 = 100/<0.510.5] 11 ~ 11 = 100] 0.5
R HEE A 0.8] 10/ 11 = 911 0.8 §0.7] 10~ 10 = 100] 0.8
A58 )10 F—0)IE A 0.6 1212 = 100/ 0.6 J0.7] 11 ~ 11 = 100| 0.8
KFII REOE A 09| 1011 = 911 1.0 J1.2] 10 ~ 11 = 91] 1.0
=01 ;I A 0.8 1212 = 100/ 0.9 J0.7] 10~ 10 = 100| 0.8
£ F)IE A 0.6 1010 = 100 0.6 0.5 12 ~ 12 = 100| 0.5
ﬁ’*ﬁﬁ"!” Eﬁﬁ A 061 1212 = 1001 0.6 §J0.7 ]| 12 ~12 = 100{ 0.6

GB) 1 F ¥ mNZOWTIEHRIERED EMFHETT,
BEICOWTIEK, 2BROBRENEDEMTEHETT,
LYBREREELZHEL-EBOBRBESEDT—42

2 #E & % x 1 00
FEHZELC-BETEHENRT—28
3 T5%KEE : FRIOBBTHENET—FZZDEDNENEDNLIBIZHEART, 0.75x nE
B (nlZEETEHEDT—48) OT—4%21E (0.75x n AEHTHWGETIHE
U EIF-BHEBDT—421E) TI,




b COD (i)

(B4 : mg/L)

BRHTIXD| BiEHESL 5 23 & 24 & 3
KB # | E5 B & F 5%El Fi B &5 ¥ 75%{iE
gEZ() [ELEH% A | 28 0/6 = 33| 2.8 06 = o 3.1
W5k A | 24 1.6 = 28 | 2.7 06 = 0] 3.0
BEZ(Q |[FoXagk A | 26 0/6 = 27| 2.3 1,6 = 11| 2.5
BILAShE A | 27 2./6 = 29| 25 0.6 = o] 2.8
T & E LRk Al 19 5,6 = 20 1.7 4,6 = 61 21
Bish% A | 22 3./6 = 24| 2.2 2,6 = 33 2.5
HHEIIFAR B | 3.0 1,712 = 421 3.8 1,/ 12 = 8| 4.1
W % @ |[hRE B | 3.7 1,12 = 39| 3.6 2,11 = 18] 4.4
ERbE B | 3.5 2/ 12 = 3.6 | 3.7 3,11 = 27| 4.1
E@EZH A | 21 2,/ 4 = 21| 1.9 2,/ 4 = 50 2.1
= B 5 [RESHN A | 21 2,/ 4 = 22| 1.7 4,4 = 100 1.9
B A | 1.8 3/ 4 = .71 1.6 4,4 = 100 1.9
LERE VIR Al 20 3/ 4 = 20 1.7 4,4 = 100 2.0
AEEZH Al 1.9 3/ 4 = 191 1.7 4,4 = 100] 1.8
AEERE EOE A | 31 0,/ 12 = 3.5 | 3.1 0,/ 12 = 0] 3.1
ZBER A | 36 012 = 381 33 012 = 0] 3.5

c ZEEXRRULE (GEHE)

(£2E2F) (B4 : mg/L)
BEHTIIH| BEELELL 7] 23 & 24 3 3
ki 8 | £y o a IEREES

SLBE 03| 2,/6 = 2,6 = 33
BEE(7) |[BEHBE 1 J03%| 2,6 = 4,6 = 6]
1 035 | 4,12 = 6,12 = 50
FUoXaEHE 03 | 3,6 = 6,6 = 100
S () |[BLRARRE 1 03| 2.6 = 5,6 = 83
E1 035 | 5,/ 12 = 12 = 0
TRk %E 016 | 6./6 = 6.6 = 100
" E E (BEmk 1 J025| 56 = 5,6 = 83
E1 021 | 11 /12 = T, 12 = o0
HH)RAL 050 | 06 = 1,6 = 11
W %% & [hRE 1 o046 | 1.6 = 1,6 = 11
ERbE 0 | 1.,/6 = 1,6 = 11
Ei 046 | 2,18 = 3,18 = 17
& Q&R 035 | 3,6 = 4,6 = 6]
AERE ERE 1 o048 | 2,6 = 2,6 = 33
E 15 042 | 512 = 612 =50

(£ 18#) (B4 : mg/L)
EREHTIID| BEEESZ 5 23 =3 24 3 3
ki # | Ey S B & ®

SLBE 0.019] 5/ 6 = 2,/ 6 = 33
BEE(7) |[REHBE 1 J0020| 5/ 6 = 5, 6 = 83
E1 0020 10 / 12 = 7,/ 12 = 58
FUoXaEHE 0.012] 6./ 6 = 6. 6 = 100
SEE () |[BLRARRE 1 Joo0l4] 6./ 6 = 6, 6 = 100
g 0013 12 / 12 = 12, 12 = 100
TRHEE 0011 6,/ 6 = 6. 6 = 100
" E O (BEhk 1 Joo0i5] 6, 6 = 6. 6 = 100
E1 0013 12 / 12 = 12, 12 = 100
HH)RAL 0031 3,/ 6 = 2,/ 6 = 33
W % & [hRE o1 foos| 4 6 = 4, 6 = 67
ERbE 00l | 4,/ 6 = 3/ 6 = 50
Ei 0032 11 / 18 = 9, 18 = 50
& O&R 0023 5/ 6 = 5, 6 = 83
AERE E R o1 J0.034] 3/ 6 = 5, 6 = 83
E 15 0020 8,/ 12 = 10 12 = 83




d 23 KKEEVOREICRIREEEED) Gilll) (B4 : mg/L)

[EEncizn| Bnzesz | 2R 23 & 3 % & 3
K ik & 1 W A = 1y W A =
i Bk wmpn |0008| 474 = T0J0.004] 474 = 00
i Bl ES 0004 | 72712 = T00f 0004 | 72712 = 100
BENERD [/\TRE EmA L0001 [ 12712 = 10000001 [ 12712 = 100
B L () [ERE E=mB 0003 12712 = 100§0.003] 12712 = 100
I AONEES EmB 0003 12712 = 1000003 474 = 100
EIITR Q) =i E=mB 0010 12712 = 100§0.010] 12712 = 100
BEE 0004 [ 12 712 = 1oo=o.oo5 19712 = 100
: REAR 0004 [ 12712 = 100f 0004 | 12712 = 100
ARNTR TrE EMB 006 44 = T00j0004] 474 = 100
PSS 0004 127127 = 100J0.005] 12712 = 100
HEER 258 EWA 0001 [ 10 2 10 = 100§ 0001 [ 12712 = 100
MES: 0004 12712 = 100j0002] 12712 = 100
DARRE 0002 12712 = 100J0002] 474 = 100
HENTH |[SREE #me 00027212 = 1000003 474 = 100
eS| 0003 474 = T00J0003] 474 = 100
BEJIE 00061 4.4 = 00J0009] 4.4 = 100
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